Statistics 2.3 Review Name: @

The following data give the prices of textbooks randomly selected from a university bookstore.

Use the data to answer questions 1 —4. i i | o
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—_ "l , ;o C‘,// — ' e -
- A, $78.88 FiHot _ 115 =q, =
T
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5. Explain which measure of central tendency, the m di mode, is best to use to AJO
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describe each type of data set.
a) A data set in which data is collected about favorite tv show. Mode /Qci caLLaL )
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b) A data set in which most people watch between 12-16 hours of TV each week, exceptone
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6. The following data set shows daily commuting times fohe employees of a company. Find
the mean driving time. X () —
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*Describe the mean in terms of this problem.
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7. Determine the following student’s GPA based on the classes and grades below if A = 4 points,
B =3 points, C = 2 points, D = 1 point. How would this grade be different if all classes counted

equally? w e
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Class--Credit Grade | (CASS  [CLwrs | GaAde] xou A/
Biology--4 credits B RID : :
Intro to Fiction--3 credits A =17 ] 2 3 . éﬁ/ Lfg
Sociology--3 credits A - ¢ 'L AT T
Computer Programming--2 credits C SoC ) Yy [ -
French--3 credits B Corip. feg| 2 5 o ~ 3.3
(On we fiké{ﬁ /b ) Fesic| 3 2 9 br

GRS i b A A .,

g 5320 Ju=s  Fro=HY

8. To determine a student’s physics grade, a teacher uses 4 categories. Tests are 60% of the grade,
the midterm is 25% of the grade, homework is 10% of the grade and attendance is 5% of the grade.
A student has a test average of 92, received an 88 on the midterm, has a 100 for homework, and an
85 for attendance. C%g:ulate t]g(sir grade for this class. Make a chart.
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9. In a particular law firm, 12 Jawyers make $125,000 each while the 3 partners make $180,000
each Find the average salary for that law firm. Make a chart,

Joh SkLArHC ) &Eﬁ’f_____,“"” ’S“’UL W #/3¢6, 000
Cpnch |r2seo |2 fiswod A by
MM’ e
el | 8oeco 3 YO0 t e Luestge J
~ [ S g0 T Sxws 2,040,000 b Hes e S
10. Find the mean temperature for Philadelphia over a 1-year penod using the frequency @& /36,000

distribution belowx W
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Statistics 2.3-2.5 Review Name:

2.3: Measures of Variation

*Mean, Median, Mode

*Weighted Mean

*Mean of a Frequency Distribution

*Describing the Shape of a Distribution

* Determining an Outlier (beyond 2 std. dev. of the mean)

2.4: Measures of Variation

*Finding and Interpreting Standard Deviation
*Using the Empirical Rule

*Using Chebychev’s Theorem

2.5: Measures of Position

*Finding the 5-number summary

*Creating a Box and Whisker plot

*Determining an Outlier (beyond 1.5(IQR) from Q, and Q;)
*Interpreting Fractiles

*Finding and explaining a Z-Score

*Comparing Z-Scores

Use the data below to answer questions 1 —6.

Total Philanthropic Givings in Lifetime:

Donors Givings (millions of dollars) | 1. Find the mean of the data set to the
Bill and Melinda Gates | 27,976 nearest whole number.

Warren Buffet 2730 X=65¢€ [

George Soros 5171 2. Find the median of the data set.
Michael and.Susan Dell | 1230 Oz~ 14 §0

Walton Family 1000 ) no
Ted Turner 1200 3. Find the mode of the data set.

4. Is the mean, median or mode a better measure of central tendency? Explain.
Medias.  hogasix U Gakes = Aot (S an ouftan

‘5. Find the population standard deviation. Round to the nearest whole number.

T =947

6. Use the mean/SD definition of outlier to show that 27,976 is an outlier.
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7. A college professor gives 3 exams throughout the semester.
The first exam is worth 20% of the grade, the second worth 30%
and the third test worth 50% of the grade. Calculate a student’s
grade if their test scores were 85, 90, and 75. Use the right for
your table.
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Use the data below to answer questions 8 -11.

208165 x 1.8 =

" Number of Car Thefts in 12 US Cities in 2003 » (

City Number of Car Thefts 3 ’ 2 2 } }
Phoenix-Mesa, AZ 40,769 O
Washington, DC 33,956 » (Q — 32 (2L ¥y =
Miami, Fl 21,088 M= |bhY (ro.ciar (<)
Atlanta, GA 29,920 A LAV
Chicago, IL 2082 (|47 ¥ M‘ﬁ
Kansas City, KS 11,669 -0 " o 4 9
Baltimore, MD 13435 - _ 27HS.S . 122217
Detroit, M s0197 O~ = B O +3
St. Louis, MO 18215 . _ . X 2~ 92
Las Vegas, NV 18,103 @3 - 37’/ O%‘ (ﬂ 8 %O /' Zg
Newark, NJ 14,413 ~
Dallas, TX 26,343 M_o-y = WLoEt

8. Find the 5-number summary of the data.
9. Sketch a box and whisker plot of the data to the right of the table.
10. Find the IQR of the dataset. 2 70F6,S —/L,2SE= 2OBIE ¢

11. Use the IQR definition of outlier to show that none of the values are outliers.

12. The data below show@ computers sold at one branch of “Buy More” stores. Calculate
the mean number of computers sold at that branch.
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13. 5000 people entering a mall to Christmas shop were surveyed and found to have ages with a mean
of 40 years and a standard deviation of 12 years. Use this to answer (a) and (b).
a) Using the Empirical Rule, approximately what percent of people were between the ages of 16 and
522 2420130 = £1-0% 238
b) Using the Empirical Rule, approximately what percent of people were less than 28 years old" %% 3¢
¢) Using the Empirical Rule, approximately what percent of people were between 52 and 767 7
d). Using Chebychev’s theorem, approximately what percent of people were between the ages o’f_h
A ?
and 647 t_ 2 757?0 ; 2 3¢ 3. S
14. 1Q scores usually have a mean of 100 with a standard deviation of 15. Albert Einstein reportedly C 1645
had an IQ of 160. ,
a) Convert Einstein’s IQ to a z-score. 4/) )
b) Is Einstein’s IQ usual or unusual? Explain. 7= J&C-—/oO C) osval
c) What would an unusual IQ score be? : ~ =Y ,Z/ ! 91‘“('7 w1
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